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A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Match The Following Questions Overview

Match The Following Questions have a good weightage in the Banking Exam and the type of question asked in Banking
exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried
to elaborate the concept used in Match The Following Questions.

Question

Directions: You are required to match statements from columns 1 and 2 and find which of the following pairs of statements
make sense meaningfully and grammatically.

Difficulty : Moderate Average Time: 32 Seconds

Options :
1. A-E only

2. B-D only
3. A-F
4. Both A-E and B-D

5. None of these

Solution

The correct answer is option 4 i.e., Both A-E and B-D.
A-E:

Sentence A talks about a company which has been introducing new element. Sentence E talks about increase in sale of
current in particular financial year. Clearly, adjoining these using preposition to will make a contextually and grammatical
correct sentence.

B-D:

Sentence B talks about what mutual support has resulted in during the time of Covid. Sentence D talks about the result of
trade relations between India and Saudi Arabia. Clearly, adjoining both sentences using preposition in makes the
sentence both grammatically and contextually correct.
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